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M z(t)=F.

gbobogbobooboboooboooboog,ggobooooboooboo
O000000.0000 000y 0OOO,000000

p_dy o, Ay gy dYy

y _dCE’ y _dxza 7y _d:L‘"’

0000000.2,y,y,---00000

F(x7yayl7y”7'”7y(n)) =0 (21)

000000 (differentialequation) O 0. 00000000 O0OOO0DOOODOOO
0000000000 (ordenDO0D0.000000yODOOOOOOOOOOO
O000000,00000000000000D00000O (degreea00. 10
ooooooO,yy,y---000010000000000000 (inear)d O
O0.000000000000004d (nonlinear)d dO.

00000000 O00o00b0d,z00000 (independent variablé) 00,y 00
000 (dependentvariable) 00 . 00 0000000000000 OODOOOO
000 (partial deferential equation) OO, 00000 100000000000
000000 (ordinary deferential equation) 0 0. O 00000000 O0OOO
gooooog,0obogodoouooonoon.ogoooooooooon
ogobooooooo,0ooobooooooooooboooooooooon
goooooooooo.ouoob,jgodgouooooooooooon
oo, 0oodoobooooooobooooooon.

0000000000000 (solution)DO0O.00000O0O0O0DODOODODOOO
O(solve)DO0O.0000000D0D000DOO0O0ODOOOODOOOODOOOODOO
O000000,0000000000000000D0000d (general solution)] 00 O .
000000000000 000000000000O000000000d (paticuler
solution)d O 0.
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gbobooboobuoobobolboobobobobooo.

dy _

= X (@)Y (). (22)

000,X(z)0200000,Y(yOyOOOOOOOO.00000000O
0000000 (variables separable) O O .

(1) 000O000O0O0o0O0o0

/Yiy)dy:/X(x)dx—i-c

0000000000.000 00000000
() 000O000O00000.

1)y ="
Y

Z)yzuyofji)

000 p0D00.000000000000000000O0O0O.
3) y =ax+by
000 e, b000 @O00:z=ax+by000,000000000).
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gbobooboobuoobobolboobobobobooo.

dy—f<y>. 2.3)

dx T

O0000000000000 (homegeneoustype) 00000000 (homege-
neous equatiori) (1 0 .

(1) 00000000000 w=y/z000000,«00000000000
gobbooodob.oboo

du
/f(u)—u:ln|$|+6

ERERE p
u

= Aexp’¥/®  F(u :/7

=) T

000000000 0.000 cOODOD0O,A=+expc000.

() 000O000O00000.

T+y
1) ' =
)y p—
2y - Y
2xy

) (z+y+4)y+(x—y—2)=0
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+000 p(z),¢(z) 000000000 1000000000000
dy

7, TP@)y = a(2). (2.4)
0000,q(z)=0000
Z; +p(z)z = 0. (2.5)

000 (homegeneous) 00, q(z) 200000000 (inhomogeneoud) O 0O O
O0.¢x) 00000000

(1) ¢(x) =0000000.0000 (25000,

z = cexp (/ —p(x) dx)

oo0oo0oboo0.000 eODODOOOO(@COO:00 2120000000
Ooooooooooon).

(2) ¢(z) #0000000.000000000 a(z)0

0000000.y(x) 0 (24000000,

_ malx)
a——/ Z()dx +c

X

oooooooo.
(.4000

y=cx(2) = =) [

O00. 000 100 2500000. 0ooooooO (homogeneous
solutionD O OD0O0O. OO0 20000000000000003 (paticuler
solution)D 00O 0O0. 0000000000 DOODOODOOOOOOOOOO

000000000 (variation of parameters) O O .

G
z(x') d

lDoooooooooooooooon.

20040 40 190 (0O O0O)



ooooi1go 2 00DbOO 11

2.4

1000oooon

gogoobobodogd.

(1)

(2)

o000 ogogoooggooooggoooooggooouogg. oo
gooogg 1)(t) ogoo,oopoocggno
dv

I S
7 v+ g

00000.000¢00000,¢000000,k00000000.00
00000000000.0000(t=0)=0000v()00000.

RLOOOOO0OO0O0O0O0 LO000000000O0 ROOO0O0000000O
0000000.0000 E\)0000,00000000 (00000
Dooooo.
L1 L k) = B,
dt
0000 E(t) 0
1% 0<t<T

0 T <t
00000000 I()000000000.000 It=0)=0000.
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ooooiroo 2 00000 12
25 00000000
gooooooooooooooooouoon.
dy
Oooooooooo
Q(z,y)dy + P(z,y)dz =0 (2.6)
googoo.
(1) 00 P,QO
0P od
P _ 7= . 2.7
r)=5, Q=7 @7
00000000, (2.6)0
dd =0
goooooooon.
O000000,0 (26) 000000 (exact differentiald 00 O .
(2) 0 (26) 00000000000,
OP(z,y) _ 9Q(x,y) 2.8)
dy ox
ooogooodon.
(3) 00 ¢0 PQOODOO
x ]
@(z,y):/P(s,y)ds—i—/b Q(a,t)dt + ®(a,b) (2.9)

O0000D0D0o0oo0 (@Wo0: (2700 100 0000,00 y0O0OO

(2.7 00 2000000.000 (2.8)0000).

00 2-5(3)0 (2.9)0,(2.7)00 200 y0OO0O,00 000 (27)00 10

ggbbobooooboobo.bogo

®(z,y) =/

a

" P(s,b) ds+/byQ(oc,t) dt + ®(a,b)

(2.10)

oo0o. (290 (¢,b) 00 (a,y) 00 200000 QO OO0, (a,y) 00 (2,y)
00 yO0OO0OO POOOOOOOOOOOO. (2100 (a,0) 00 (2,0)00 y
00000 PO D0OO,(x,b)00 (x,y) 00 200000 QUOOODOODOO

ooo00.0o0o0,%0 (»,y)DODODODODODOOOOOOOOO.
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ooooboobooobo,00oboboogobobobo0dJeboboobboobooDbo
QUOO000O00wOOODOOOODOOODDOO.

dU = 6Q — dw.

goooob 7,00 plbooboboobbob.0booboo,0bon
gobogd dU:%RdTDDDD,DDDDDDDDDDDDDDDDDDDD
ow=pdVO0OOOO0.000 ROODODOO (UmolK),VOOOOOODODO.DO
gogbobuoogobboboo,bbboodgabbb

VT3 =00

gogooobogd.
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